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a1 : (1) REAE 9x% — 16y? = (3x + 4y)(3x — 4y)

2x2—=5x+2=(2x—1)(x — 2)

(2) cos?20°+sin?20° =1

3) HZAcBcC: H] An C=A

(4) Y = V2x - IVH{EHEEZE x =

N |-

=B = 1
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1. fERE 2x>—5x+2=0
o Cx—-1Dx-2)=0
2x—1=0o0orx—2=0
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X1 =3 or x, =2
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SXy = 0r Xy = 2R T TEHYfE

e x—2<1 (1) p—
2. fRRE {x+521 (2) [ o
0 xS1+2 o
L x<3
X x=21-5
Lx=>—4

—4 <x <3 FIAZFEAHAVE.



3. {tffi: (a+2b)a—2b)—(a—b)

f# Hxt=  a’®—(2b)* —(a® —2ab+b?)

= a’—-4b?-a’*+2ab-b?
=  2ab-5b?

_ . (a+1)(a—2) . (a+1)(a—-1)
e - = (a+3)(a=2) = (a+3)(a+2)

_ (a+1)(a—2) (a+3)(a+2)
- (a+3)(a=2) (a+1)(a—1)
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5. AEf§: COSA57-SINASHCOLAST | i1 60 © e oS 30 ° + cos222° + cos2 68° — 1

1+tan 30°tan 60°
V2 V2
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i RR= A+ e T+ 11

142053 2 2

=2+341-1
2 2

=2

6. NAIETE > Ksin(10°+ 0) = cos 30 HVERFE O HIE -
fi# * sin(10°+ 0) = sin(90° — 36)
10°4+ 6 =90°— 36
40 = 80°
0 = 20°
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ORI R # y =2x" —4x -6 ~ HEFER Yy =a(x—h)* + ki » KREAVTEEAARE - $HiE
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fifg © y=2x*>—-4x—-6

=2(x* —2x - 3)
=2(x* —2x+1-1-3)
=2[(x-1)* - 4]

=2(x-1)* -8
EHIBE AL > THERAAEE Rs(1 > —8)
By x=1 > yo 0 =—8
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i R REUE y =kx + Db

2)- (D= k=4
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1. 241 : 85 E> F£ BC I » BE=CF » AB=DC » /B=_C.
k2% © AF=DE.

¥ : 1£/\ABF f1/ADCE tf » A D
BE = CF,AB = DC, 2B = +C (=47)
EF = EF (AFIE)
BE + EF = CF + FE €3
BF = CE €2
A ABF = A DCE (S.A.S) B E F
AF = DE (&% A HIEBHSE)

2. BEH  WEIR > L1=42 0 L3=/4 -

Keg © VU ABCD [P TIUET - gz 3
Ao 2
£ /AABC FIAADC H B = ¢
£1= 22 (E40)
AB//DC (MEEFTHE, WERFT)
23 =2s4 (E%0)
AD//BC (IS FaRHSE, W E4RF1T)
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